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Note : This paper is of eighty (80) marks containing three 

(03) sections A, B and C. Learners are required to 

attempt the questions contained in these sections 

according to the detailed instructions given  

therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, méhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. How is residence of an assessee determined for 

income-tax purpose ? Explain the incidence of 

residence on tax liability. 

vk;&dj ds fy, djnkrkvksa dk fuokl&LFkku fdl izdkj 

fu/kkZfjr fd;k tkrk gS \ fuokl&LFkku dk dj&nkf;Ro ij 

Hkkj le>kb,A 

2. Discuss briefly the provision of Income-Tax Act 

regarding important deductions as to be allowed in 

computing the total income of an assessee. 

vk;dj  vf/kfu;e ds vUrxZr ,d djnkrk dh dqy vk; 

dh x.kuk djus esa nh tkus okyh izeq[k dVkSfr;ksa dh laf{kIr 

O;k[;k dhft,A 

3. Smt. P is an employee getting monthly salary of 

` 5,000 plus a dearness pay of ` 500 p. m. She 

contributed 14% of her salary and dearness pay to 

Provident Fund to which her employer contribute an 

equal amount. Interest on provident fund at the rate of 

12 percent per annum which amount to ` 3,600. She 

also gets a house rent allowance of ` 200 p. m. She has 

actually paid ` 600 p. m. as rent of her house. What 

will be her taxable salary for the assessment year 2017-

18 if provident fund is : 

(i) Recognised 
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(ii) Statutory 

(iii) Unrecognised 

Jherh P ` 5]000 izfrekg osru rFkk ` 500 izfrekg eg¡xkbZ 

osru ij lsokjr gSA og vius osru o eg¡xkbZ osru dk 

14% ,d izkfoMs.V Q.M esa nsrh gS ftlesa mldk fu;ksDrk 

Hkh bruk gh nsrk gSA izkWfoMs.V Q.M esa C;kt 12% dh nj 

ls fn;k x;k tks ` 3]600 gSA mldks ` 200 izfrekg edku 

fdjk;k HkŸkk Hkh feyrk gSA og okLrfod fdjk;k ` 600 izfr 

ekg nsrh gSA mldk dj&fu/kkZj.k o”kZ 2017&18 ds fy, dj 

;ksX; osru D;k gksxk ;fn mldk izkWfoMs.V Q.M % 

(i) izekf.kr 

(ii) oS/kkfud 

(iii) vizekf.kr gksA 

4. Mr. Dilip owns a big house, the construction of which 

was completed in May, 2012. 50% of the floor area is 

let out for residential purpose on the monthly rent of 

` 22,500. 25% of the floor area is used by the owner 

for the purpose of his profession, while remaining 25% 

of the floor area is utilised for the purpose of his 

residence. Other particulars are as follows : 

                                                                              ` 

(i) Municipal valuation   6,00,000 

(ii) Standard Rent   9,00,000 

(iii) Municipal Tax Paid   80,000 

(iv) Interest on loan for Repair  3,00,000 

(v) Fire Insurance Premium  12,000 

Compute taxable income from house property. 
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feLVj fnyhi ,d cM+s edku dk Lokeh gS ftldk fuekZ.k 

dk;Z ebZ] 2012 esa iwjk gqvkA edku ds {ks=Qy dk 50% 

Hkkx ` 22]500 ekfld fdjk;s ij jgus ds fy, fn;k x;k 

gSA edku ds {ks=Qy dk 25% Hkkx edku ds Lokeh }kjk 

vius is’ks ds fy, iz;ksx gks jgk gS rFkk {ks=Qy dk ‘ks”k 

25% Hkkx mlds vius fuokl ds fy, iz;ksx gks jgk gSA 

vU; fooj.k fuEufyf[kr gSa % 

                                        ` 

(i)  uxjikfydk ewY;kadu    6]00]000 

(ii)  edku fdjk;k   9]00]000 

(iii)  uxjikfydk dj pqdk;s   80]000 

(iv)  ejEer ds fy, _.k ij C;kt  3]00]000 

(v)  vfXu chek izhfe;e   12]000 

edku lEifŸk dh dj;ksX; vk; dh x.kuk dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. What do you understand by Agriculture Income ? 

d`f”k vk; ls vki D;k le>rs gSa \  
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2. Explain Tax Free Allowance. 

dj eqDr HkŸkksa dks le>kb,A 

3. Calculate exempted amount of House Rent Allowance 

from the following : 

Salary ` 7,200 p. m. 

Darness Allowance ` 1,800 p. m. (as per service 

condition) 

House Rent Allowance ` 750 p. m. 

Rent paid ` 1,125 p. m. 

fuEufyf[kr ls edku fdjk;k HkŸks dh dj eqDr jde dh 

x.kuk dhft, % 

osru ` 7]200 izfr ekg 

e¡gxkbZ HkŸkk ` 1]800 izfr ekg ¼lsok‘krks± ds vuqlkj½ 

edku fdjk;k HkŸkk ` 750 izfr ekg 

fdjk;k fn;k ` 1]125 izfr ekg 

4. Mr. Hari retires after 33 years and 9 month and 

covered by Payment of Gratuity Act. He received 

` 85,000 as gratuity in the previous year. His monthly 

salary at the time of retirement was ` 4,200 (4]000 

Basic Pay + 200 Dearness allowance). Determine the 

amount of exempted gratuity. 

gjh 33 o”kZ 9 ekg ds ckn fjVk;j gqvkA og xzsP;qVh 

vf/kfu;e ds vUrxZr vkrk gSA mlus xro”kZ esa ` 85]000 

xzsP;qVh ds izkIr fd;sA fjVk;j gksus okys ekg esa mldk osru 

` 4]200 Fkk ¼` 4]000 ewy osru + 200 e¡gxkbZ HkŸkk½A 

xzsP;qVh dh dj eqDr jkf’k dh x.kuk dhft,A 
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5. Write any ten incomes which are taxably under the 

head „Other Sources‟. 

^vU; lzksrksa ls vk;* ‘kh”kZd esa dj&;ksX; vk; dh nl enksa 

dks fyf[k,A 

6. What do you understand by Capital Gain ? 

iw¡th vk; ls vki D;k le>rs gSa \  

7. Write main provisions of deduction U/S 80 C. 

/kkjk 80 lh ds vUrxZr of.kZr dVkSrh ds eq[; izko/kkuksa dks 

fyf[k,A 

8. The total income of Shri Abhishek is ` 2,88,000. 

Calculate tax payable by him. 

Jh vfHk”kssd dh dqy vk; ` 2]88]000 gSA mlds }kjk ns; 

dj dh x.kuk dhft,A 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following are True or False. 

bafxr dhft, fd fuEufyf[kr lR; gSa ;k vlR;A 

1. Income is taxable only if it is received in money. 

vk; rHkh dj ;ksX; gksrh gS tc eqnzk esa izkIr gksA 

2. Dividend received by the assessee from domestic 

company is exempted. 

?kjsyw dEiuh ls djnkrk dks izkIr ykHkka’k dj&eqDr gksrk gSA 
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3. Pension to Government employee is exempted. 

ljdkjh deZpkjh dks izkIr isa’ku dj eqDr gksrh gSA 

4. Advance salary is not taxable under the head „Salary‟. 

vfxze osru ^osru* ‘kh”kZd esa dj ;ksX; ugha gSA 

5. The maximum limit of deduction of interest on loan for 

construction of house in case of self occupied house is 

` 1,50,000. 

Lo;a jgus okys edku ds fuekZ.k gsrq fy;s _.k ij C;kt dh 

dVkSrh dh vf/kdre lhek ` 1]50]000 gSA 

Fill in the blanks. 

fjDr LFkku Hkfj;sA 

6. In business ......... shall be disallowed, if the payment 

exceeding ` 20,000 is done in cash. 

O;olk; esa ` 20]000 ls vf/kd Hkqxrku udn djus ij 

lEiw.kZ Hkqxrku dk 
---------------------- 

Hkkx vLohd`r gksxkA 

7. On selling of shares after 12 months profit on it would 

be regarded as .......... capital gain. 

12 ekg ds ckn va’kksa dks cspus ij izkIr ykHk 
---------------------- 

iw¡th 

ykHk gksxkA 

8. Tax is deducted at ......... % on winning from lotteries. 

ykWVjh ls thrh jde ij 
---------------------- 

% dj dkVk tkrk gSA 

9. Short term capital losses can be set off against any type 

of .......... gain. 

vYidkyhu iw¡th gkfu;ksa dh iwfrZ fdlh Hkh izdkj ds 
--------------------

ykHkksa ls dh tk ldrh gSA 

10. Maximum deduction of interest on Saving Bank 

Accounts is ` ........... . 

cpr [kkrksa ij C;kt dh vf/kdre dVkSrh lhek ` 
------------- 

 gSA 
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